T

Ratio to ATLAS

1/N,, 1/2T[|oT do/dndp
H

= =

S, 9 =

N N o
“IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIIILI IIIIIII| I IIIIIII|

|
<
w

1074
107
107°

1077

[EEY

0.5

GeV p

2360

Charged Particle P Spectrum (N_>1,p_>0.5GeV)

'--....i_-
.
".‘...
o

ATLAS
----- ¢ Sherpa 1.2.3 default

Soft QCD

Rivet 3.1.0, 6.7M events

mcplots.cern.ch [arXiv:1306.3436]

|
AR I|IIII——I—IIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| [

N

2 3
l




	Contents
	Page 1


